= e 00 &0 O 00 0 O oo |
BEEZEOREEESR covyoooo0o0o0o0000000 ;F!il
DDDDDD&DDDDDDDDDDD}DD} 55 X
- - 0O0DEDODODOODOODOOQODODODO1170 22 =
ORERERLECONT 00 ADO0D0O0DODODOOD@OODOAGO £ 5
oooboboopoa20ood DD7J<DDDDDDDDZZH]DDD = 15
000000O000000000 EE%BBBDEEDEEH%BB §Z)
O
Doooooooobtobil i g o o000 O0OO0OpOO0O0 11000 2
ooooo DO0# 000 O0O0QO0DO0O0D000 B &2
emgkE- FhEwRsst 00 000 000000000 *;ﬁ_f = i1
00000000000000 i 5 _ g0 DDSDDDD 0 _.-T-_EE.I.EQ
000000000000000 {0 O # 0O O 00gO0O0aooao o jo @l @D
TR R £ ¥
@IRDIZ U » T AKERIRE 0w BO0O0 oDoooo "o o 4N
00000000000000 D000 DOpgODDOD0 O 6%%
000000000000000 . LB?EB o 88o0B8obb £ o9m <
000000000000000 0o >0og oo%o0o00o0 o O b\ |
000000000000000 00O0GO0 QDO 0 O g 0000 0 Z;:j
00 -0 0 0 O 0000 o H
Jboooooon 0o0f#00 00gO000a0 DD‘E
T : g
— i = &t #TE
RAFRLREEE (%]
m A R B & 42129,65056FH X 9 R B # SHRTEE LR
m R E & 41181,343752FH é“%% A B 4E5MATH 1714759
HRIREHALS 5185, 420738 G0 KB OR| OMER|  2MER
£ 3 @® 1488.307/54F w N En 2(88,23959 A5,0535
==
373 > =
(Al 2o |HERE e wnerm 0 meTa
X & R B B | NRIEELR ®rE
EEEGE BT B | 186.32006FH | A1,00955FH z | B ELERAITH 4,81756FH
(15.97%)| Z Dt | 5fE2, 284756 11758FH ﬁﬁ WEBEE 1{E5776FH 2,210752F
KTZRAR | AR | 16(87,06755FH 6,56258FH f@ By & 3f&1,59658FH A31275FH
(84.03%)| Z D fth | 19(83,97759FM | 11(87,435753FH B ®us 383,628/ |  2f83,395757FM
& &t 4f89,650756F 1 | 12(82,910/56F 2 ey
: 6184,114759 3413558
¥ (GF1) vEEgfEnEERLSESEIEE. &8 09 # GED) B0 TIARSTHS PEFH
BEAEIBRHIES 694FMESD
LEE *#\ SAPFIEED S |z owm K Yalee il
5 5l = 5t & &t 01f81,30352F@ | 13(87,066557F M
RARHREEE
o = m AR B B : BEEDRFMCAE
= E-I- ‘Igl —“‘%‘E‘I‘b\5®ﬁkﬁ ﬁ_ﬁﬂjliﬁgﬁ %glgﬁ ﬁ(ﬁl%@iﬁwg
£ A {7 8854FH 0™ 8854FH 0M
B % K & = 1485,198/55FH 9,72153FM | 1425,19855FH| OF | EoiEttxeEEs 83670
ERRERZEXE 1129,22875H 6,598/53FH 1129,2285H 0/
RIRHE %|E 2 B = A8860356FM  20E2,416759FM | 288 69356F | OF | DooEXAEEES 2l A
T XK & = 7,026/59FH 3,349/7FH 7,026/59FH 0/
NEFEUAY —ERE%E  3,500H5FH 89558FM|  3,50055FM, 0M
EXRARERANREESSE| 2(8240H9FH 128525 1FM | 2E240859FM| OF | En@EkxHEELS 24865M
S WmEEE 3,27957FH 1,586 /58FH 3,279A7FH 0/
a Bt 987,256 /55FH 5{%5,420/58FF | 957,256 /55FH 0/

MEHEZNZNWERA LTV e, GEHCBVT—HLTOLE A



BESHTSOHR

(=M)

P 00220000000000000
10¢ 00000005,000000000
8 00036000 00000000
6 0000000000000 150
4+ 00000000000
H14 H15 H16 H17 HI8 H19 H20  H21  H22
.mﬁ{;yi—'%—o)mg 00220 00000404,100000
. 2 =it 0000000000000 0
N 7
80- 00000000000000
70 005000 000000000
gg 47.08  47.47 gog
20 0000000000 0000
30, 00000D000000000
200 | 0056000 0000000000
10, 000000000 09,70000
ol
H14  H15  H16  H17  HI8  HI9  H20  H21  H22 oooo
ooooo
OO0 O OO0 0G0 O OO0 O O $
e - svop=wpeo| 0 0 0 0000 0O00O0O0DODODOODOODOO
élmswmlﬂgﬁhufﬁngmﬂ[ 00 mwooooOOoDOOOOOOOOGOaD *E
- e 00220 0 O O0O0OD0OO0OO0D0OO0OO0aOn
s : OO00DO0O0aOo O0O0OO0OO0ODO0ODOO0OaGO0aOn 5'1-‘
mo A 4114 00 MmO 0 0 00DO0D0O0D0O0D0GO0RD =
Wik mT 26. 44 0O 0270 0 O 0O0DO0D0O0ODO0DO0OODaO
=k T 19. 74 OO00D0 O 00O00O0OO0OD0DO0OO0TOa0 Sﬂg
= 15. 7 00000 OD0DO0OD0OO0OD0DDO0OO0DODaO .
J%WE 5 68 0O0Om@mOO0 0O000O0O00000C D;ﬁ
o : i 10 O 0o o i O 0000 aQ i&
A A5 T 1455 O 0 O 0O O O ooooo @
AT . 13,30 O \ 0 0O O D00 O =@ D
= o W] mm13.18 0 0 0 o0 0 OO0 O 0 BR .=
7R HE I K .10, 25 0 = 17T
fra sl o % Doomo. - "0 o0woooon ooooooc = i
B OO RT3 g
T 000080040080 08 008 H.I_?‘H
. y 7 ¢ (000000 00 0 O Opo OO0 O 0 O 00 O E
BRI AT T im0 O O O 0170 0 O O O 000 @
i o R w763 | CTl0o0o0D0oQg00ooao O o OO0 O _I_E
~ K BT m7.11 000000 OOg0 OO0 OO O mo v
B OfF K m6.78 000000 OO0 O O O O o oA
~ 9 OD0DO0D0O0OD0O0ODO0GOao 0O 0 Ooo =~
;EI; OD0O0D0OO0O0DO0DO0G Oao 0O O ooo <
A [ OD0O0D0OO0OO0ODO0DO0G Oao O O ooo b
0 50 om0 000 O0O0O0ODOCDO 0O O OO0 O
O0O0DD0DO0OO0OD0ODOG Oao O O OO0 O
gO000DoD00oDbO0O0obOooDooOoOooo O 0 O 0O 000 o0 0 0 0 0
0
WEEEERFHEROHR )
(%) 18, 7 WSR2 RERFREET TORE (E5M) g
50 ~
10 \41.78 P FE| 17 | 118|119 | Heo | Het | e g
\32 o EE-I-EJ |:|
30 ' T K | 10/ o o o o0 ofq
20 Fr N BHifl e b E#E (20%) B 5 K & 106 0 0 0 0 0 E
10
5.59 fBRR{Rb% | 154| 129| 105| 28 0 ol O
0 \ = O
\% 28 2 B| 776| 776| 616| 409| 213 0
-10 -
PN =
H17 H18 H19 H20 H21 H22 [ | =1 ],046 905 721 437 2]3 0




